
  outsidevan.com          youtube.com/outsidevan           @outsidevan          facebook.com/outsidevan          info@outsidevan.com

19509 NE Riverside Pkwy    |    Portland, Oregon 97230    |    1-800-971-8830

Thank you for purchasing the Outside Van Sprinter Van 6” Light Bracket Kit. This installation guide is meant to 
direction you through the easy and seamless installation process. Before beginning the assembly, visually  
inspect all components for defects in finish or craftsmanship and check that you have all necessary hardware.  

MASTER PARTS LIST

# DESCRIPTION Used In

1 Outside Van 2019+ Bumper Bracket Step 4

1
RIGID Dual 6” SAE Lights  
(White/Selective Yellow) Step 6

1 Outside Van Hardware Kit -

TOOLS NEEDED

# DESCRIPTION Used In

1 Pry Tool Step 1

1 T45 Torx Step 2

1 5mm Hex Wrench Step 5

1 7/16” Open End Wrench   Step 9

MASTER HARDWARE LIST

# DESCRIPTION Used In

2 Spacer 3/4” OD, 1/2” Long Step 3

2 M8 X 1.25mm, 35mm Long Step 4

1 RIGID Hardware Kit Step 7

SPRINTER VAN DUAL 6” 
LIGHT BRACKET KIT

2019-2020 MERCEDES-BENZ SPRINTERS 



  outsidevan.com          youtube.com/outsidevan           @outsidevan          facebook.com/outsidevan          info@outsidevan.com

19509 NE Riverside Pkwy    |    Portland, Oregon 97230    |    1-800-971-8830

STEP 1

Use the pry tool to remove both covers to expose the factory T45 bolts.

STEP 2

Remove the two factory T45 bolts.

STEP 3

Place the two provided spacers in the holes.



  outsidevan.com          youtube.com/outsidevan           @outsidevan          facebook.com/outsidevan          info@outsidevan.com

19509 NE Riverside Pkwy    |    Portland, Oregon 97230    |    1-800-971-8830

STEP 4

Set the Bumper Bracket on top of the spacers 
and start the M8 flat head hex bolts by hand.

STEP 5

Tighten the M8 bolts with a 5mm hex wrench.

STEP 6

Open the RIGID Dual 6” SAE Light box and remove 
the lights and hardware.

STEP 7

Follow the RIGID hardware install guide.



  outsidevan.com          youtube.com/outsidevan           @outsidevan          facebook.com/outsidevan          info@outsidevan.com

19509 NE Riverside Pkwy    |    Portland, Oregon 97230    |    1-800-971-8830

STEP 8

Slide outer end of the light in first then slide  
inner side down into the slot.

STEP 9

Add one washer and nyloc tighten with the 7/16” 
wrench.

STEP 10

Wire the lights using the RIGID installation harness 
and manual.

STEP 11

Aim the lights against a wall on a flat surface so 
the beam pattern is below the low beam pattern.


